Palazzino in Mosta



Mosta, Central



€2,128,000

Total Rooms: 15

Bathrooms: 2

Floor Area (m²): **580**

Reference No: 240461048-237

Bedrooms: 7

Palazzino - For Sale - Mosta

MOSTA - PALAZZINO - Situated in one of the most charming and historical streets yet close to all amenities and the Mosta Dome, comes this PALAZZINO dating back to the 17th century. This property enjoys a lot of traditional Maltese Features such as high ceilings, stone arches, kileb, xorok, and more. The layout consists of an entrance into a large Central Courtyard of circa 150SQM, with enough space for a pool, surrounded by rooms around it. This property has a total of 14 rooms with the potential for further extension. Presently the property has 3 Large Bedrooms, a Kitchen, 2 Sitting Rooms, a Dining Room, 2 Bathrooms, a Study Area, and a 15-meter balcony overlooking the Central Courtyard. The property is also complimented by an interconnected street-level garage and a separate flat let which currently is being rented. Property is a great investment for a Boutique Hotel or a Family Home. Contact you prefer agent for more information.

Features

- Ceramic Floor
- ✓ Water Utility
- ✓ A/C
- ✓ Wi-Fi
- Yard
- Court Yard
- Space For Pool
- Balcony
- Roof Terrace
- CCTV
- ✓ Satellite / TV/ Cable

- En Suite
- Electricity Utility
- Skirting
- Terrace
- Central Courtyard
- Air Space
- Well
- Back Yard
- Garden
- Alarm System

Rooms

- ✓ Kitchen: 4.71 x 4.71 m (22.18 m2)
- ✓ Sitting: 5.61 x 3.11 m (17.45 m2)
- ✓ Kitchen Pantry: 1.51 x 1.51 m (2.28 m2)
- Double Bedroom: 6.35 x 3.17 m (20.13 m2)

- Dining: 3.69 x 4.75 m (17.53 m2)
- Guest Toilet : 2 x 2 m (4 m2)
- Open Space : 5.29 x 3.45 m (18.25 m2)
- Open Space : 5.4 x 3.6 m (19.44 m2)
- Garage: 6.82 x 3.24 m (22.1 m2)
- ✓ Landing: 2.62 x 2.62 m (6.86 m2)
- Bathroom: 2.59 x 1.87 m (4.84 m2)
- ✓ Double Bedroom : 4.88 x 7.95 m (38.8 m2)
- Living: 3.37 x 5.45 m (18.37 m2)
- ✓ Box Room : 1.5 x 1.5 m (2.25 m2)
- ✓ Double Bedroom : 3.36 x 6.44 m (21.64 m2)
- ✓ Open Space : 18 x 1 m (18 m2)
- ✓ Double Bedroom : 5.02 x 3.18 m (15.96 m2)
- ✓ Double Bedroom : 5.84 x 3.08 m (17.99 m2)
- Open Space : 5.2 x 3.11 m (16.17 m2)
- ✓ Double Bedroom : 5.02 x 3.18 m (15.96 m2)
- Double Bedroom: 5.84 x 3.08 m (17.99 m2)
- Open Space : 7.27 x 2 m (14.54 m2)

Gallery









































Josianne Camilleri RE/MAX Professionals - Mosta

M: 79050767

E: jcamilleri@remax.com.mt

T: 22265300

RE/MAX Professionals - Mosta

24, Vjal L-Indipendenza, Mosta, Malta